
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

9, 143 × ________ = 9143 1, 465 × ________ = 1465

5, 349 × ________ = 53.49 7, 23 × ________ = 723

2, 799 × ________ = 2799 8, 012 × ________ = 801.2

9, 81 × ________ = 98.1 4, 479 × ________ = 447.9

4, 339 × ________ = 4339 10, 311 × ________ = 103.11

9, 233 × ________ = 92.33 7, 996 × ________ = 799.6

4, 49 × ________ = 449 7, 499 × ________ = 749.9

6, 114 × ________ = 61.14 1, 763 × ________ = 1763

7, 153 × ________ = 7153 1, 733 × ________ = 1733

4, 421 × ________ = 44.21 9, 379 × ________ = 93.79

www.snowmath.com

https://www.snowmath.com


StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

9, 143 × 1000 = 9143 1, 465 × 1000 = 1465

5, 349 × 10 = 53.49 7, 23 × 100 = 723

2, 799 × 1000 = 2799 8, 012 × 100 = 801.2

9, 81 × 10 = 98.1 4, 479 × 100 = 447.9

4, 339 × 1000 = 4339 10, 311 × 10 = 103.11

9, 233 × 10 = 92.33 7, 996 × 100 = 799.6

4, 49 × 100 = 449 7, 499 × 100 = 749.9

6, 114 × 10 = 61.14 1, 763 × 1000 = 1763

7, 153 × 1000 = 7153 1, 733 × 1000 = 1733

4, 421 × 10 = 44.21 9, 379 × 10 = 93.79
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